Anwlaseasrerlszlam (Sentence Study)

lunssunmndangulidlafuueniiannguassameiuannadia
Awiudn A lalulassairveslssleafidugUasseduluginace  auwinlvinag
aunmnsanqelidnlasmdadnlafsadnteavinndu sulamddiienlildee
f-i:iiflummfa"mqwlﬁﬁﬂfﬁqﬁmmﬁfﬂ;hﬂfnuLﬂ’hl@ﬁwﬁua:ﬂ%lﬂmm%‘nwm
Us=Tam ﬁﬂﬁnmﬂmémumummz%uj pialil delifianugsangnutasaine

e audmnauesgindlanneaiiieals

“You know, sweetheart,” the dreamy-eyed young
man said.” Since | met you, | can’t eat, | can't sleep, |
can't drink. "

“Why not?”

“I'm broke. ”

anuidninAnmidnlaFediiiiedls dladsslaaiidn “rm broke.” wn
v
vapdedls uindnmldidnlassstlowawynsug  avdiudnlezloathiuduoull
A AMNAEdn teusn” wynautudnauduanuuasoauiulild ueuldvdy
=
\Teas

(R ]
Wuumaununiidy wsdnlidnladwiuazlaseaing avhifeuas
- [ L} 1 ¥ ] 'U 5 U

asaRlinAnsaudssloasallll Fatulsluandudanan  a1wusn

wenguvinANidn e e
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Not only does she enjoy listening to people talking about
philosophy, but she is also inclined to get very irritated by any

conversation which is not directly connected with herself.

UszTupildidousnn  duieilszlen compound uas complex 87uuAa

astietlszluatipenidhulslundne 1 (tr!

1. She does not like listening to people talking about philosophy.
2. She has a tendency to be annoyed by any conversation.

3. The conversation does not concern herself.

a?dﬂqquuu’mmmﬂ?“fﬂﬂﬁ Ag "Lﬁahi’nauﬁqu"{%‘uauwum‘%imﬂi“"ncmu.a:
seazfAnlinelansaunula  flifuadestusaise:

vinAnnenalstuatiude Whlasnaibideular SninAnsdnedanmas
Whuinlssluaffudeumsnilffgnanusioefuguasm  an@assaid
Fhalssloafidudeusnaidausng Fods  indnsmmamnaridlalassas

z 1 ) L 1
Uslnaugmudenewidnencetials

1. Anwilassadraselaaiugny

ﬂTVT.ﬂﬁmmﬁcnqwﬁujwuﬁﬁumﬂsznﬂnﬁwmuéﬁﬁm 3 dou Ae
Usr87U (subject) 38 (verb) uaznTIN (object) mamuwmmlnﬂﬂmauym
Fdundn waEANLAIN (complement) 1y

Industrial poiution cauies many prc{lems.
)
Johnsy was sleeping soundly jn her room.

Vv
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dselam SV-0 dnediull pollution ulszanu causes \Wunsen neliudadsssu

wAngwin problems Fuflunsusiaemumndanienans @2y industrial LT many i1

ity adjective 118A1UN pollution WAL problems FNMANAL

Uselum S-v-C fignunn 8 Johnsy Whitlsesu was sleeping unen  Taefiwday

WA @8 soundly in her room UBNEINTHT was sleeping

salitazidulassairalssluaiuguiinAnmagsasdeaFauiniay

Fnaeing Mall
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&
ﬂezTﬂnwugquLmuﬁ 1 S - Vi
The tree sways in the wind.

«

The Ping River flows info the Chao Phya River.

ﬂez'tﬂnﬁugnuuuuﬁ 2 S-Vt-Do
They cashed the check.
My mother had read most of Sunthornpoo’s poems.
Adi.

& <
tsslaaugiuuuud 3 S = VIk ~ SC

< N

This mango tastes sweet.
Your plan seems workable.
Later he became an accountant.

Art is my son.

(VIk = linking verb wian3aminwihiideniaeniu)
. N ] “n -1 =& 1 [ d o v
(SC = subjective complement NTANUILIANIAN UNTEIN] wiaA NN
1 1 4
unlulsstalilapnuanysal Jananirtednlszauvizess

sz Teenaaziflyu noun Wi adjective)
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& ol
dszlaaugruuuun 4 S-Vt-10-DO

| sent him the money.

The salesman showed me the samples in his case.

The policeman handed each of the drivers a ticket.
N.

¥ o
UssTaaRugUULLN 5 S-Vt-DO-0C _

Adi.
| thought him the best of men.
The member has selected Mr. Kennedy the man-of-the-year,
Some people might think Mr. Surat rude.

They painted their old car a bright, shiny yellow.
(OC = objective complement azwimuinaenenssuiagdramiiin

» 1
{lu adjective usiduilu noun flaznaratnssuietdrami)

z r o 1 7 uI/ 1
Uarluanugufoniniindnmngll dwdssloain 9 1 Seinlselun
g t : =] o ‘l! b 24 L4 cll 1 & o 8 1 l’i’
Hugumalnidisumniy  Sendaddenuuusiag o fasmlidsrTaamaniiiiu
- ‘ I ) e g R
compound %38 complex sentences a3endt Ustlaaidudou Minlggrunm
ganqueuuda liidnladszlee Asieeuuiieonulszlvatuteusaly
reuarGuulsrioaduden  WiinAnwnian linking verb Wiareniivin
- al' ] 4' o] ] ar 1 | o A’
wihidanaNTllinntn udeandhs 3 ngu Fall
1. be \{lu linking verb Titeefige  uananBANFERRAMNVINE
aghuAaatu fAe seem, appear, prove, remain, continue uazBY I
My roommate is a very good student.
The speaker seemed unhappy.
He remained a rebel.
The weather continued warm.

2. become warnieMAA1BARITL: turn, grow, work, get, wear uaTRY 1

Later he became an accountant.
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The weather turned colder.
| grew weary of his talking.

3. Linking verbs Arendasiulrzanma 5 look, smell, taste, feel,
sound BINNTOANAY adjective subjective complement %wwmumqumm
Usesu

Mr. Smith is looking stronger.
These cookies taste good.
| feel bad about the election results.
fedndyiaandniandevilside riomaniamnsninlidideqnys-
umﬂ%"u’] Togine s ndlusisailu finking verbs @nsly s ¥fannA e
s fumnseiuliluusaznszaalslaafiuansaeiu
Lucy appeared in the doorway. (S vi adv. Pattem 1'.)

Lucy appeared worried. (S Vik SC. Pattern 3.)

The Watchman sounded the alarm. (S vir. DO Pattern 2.)
Your proposal sounds workable. (S Vik SC. Pattem 3)
The child is growing rapidly. (S Vi Adv. Pattern 1.)
Mother grows delicious tomatoes. (S Vir DO. Pattern 2.

I am growing dissatisfied. (S Vik SC. Pattem 3)
The road continues north to Bang Luang. (Pattern 1))

You should continue your education. (Pattern 2.)

Relations between us continue strained. (Pattern 3.)
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Exercise 1 Circle. the subject of each sentence and underline the verb. In the

1.

space at the left, write 1, 2, 3, 4 or 5 to indicate the pattern of the

sentence.

None of us want you unhappy over the loss.

I'm not enthusiastic about that trip to the lake.

Sriwilai lost her textbook at the basketball game.

Sang has found us a new route through the mountain.

The teacher's response to my question was ambiguous.

The weeds are slowly returning to my garden.

Last year a serious lack of communication affected the legislators.
The coach ordered the boys new uynifofms.

After his departure from office, we all forgot his fine work in the job.

10. The jockey picked out one of his favorite horses.

Exercise 2 The following sentences are all Pattern 2, 3, 4, or 5 sentences. Circle

2.

136

the subject of each sentence and underline the verb. Identify the
italicized word by writing one of the following in the space at the /eft:
DO (direct object), SC (subjective complement), 10 (indirect object), or

OC (objective complement)

1.1l mail you my report in a few days.

The court held the Navy responsible for the oil spill.

Two days later we discovered the loss of the jewelry.

The weather forecast for tomorrow sounds favorable.

The three cows made a terrible mess of my garden.

These vigorous exercises should keep you healthy.

Some cruel person sent poor overweight Oan a huge box of choco-

late.
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8. During the night the storm became incredibly fierce.
9. After a long run a glass of ice-cold orange juice is certainly refreshing.

10. The team showed us real courage in the second half.

2. Anwlpssasalsslamenquasdudau

Lﬂ'm:ﬁﬂuﬂi‘:iﬂﬂﬁﬂ'lﬂ%u Tﬂﬂﬂnﬁé&ﬂm:ﬁﬁﬁﬁhumm (signal words)
“i1 and, also, but, however TenAnu 2 UssTaadndaais Adexmy 1y and,
also vanlfegilanuiuteslead 2 auflumslideyafieatunrdulslon
usNINAY doudniden iy but, however venlsisnuinlananalulsiad 2 ax
Uidayafiuansraiuli)
Examples:
His sister gave him a watch for his birthday, and his brother gave him a book.
(’iT'amm'luﬂs‘:‘iﬂﬂ*?'{ﬂmlﬁ"z”lﬂu“aLﬁﬁmﬁ'mﬁwmﬁfgﬁnm‘lﬁ?uluiw,ﬁm)
His sister gave him a walch for his birthday, but his brother gave him nothing.

i A ] L i ar o : s o -
derrnalulszluanasdidayaunnsrsiunaafuraseioynanldiuluiube)

Exercise 3 Look at these sentences. Find the signal words. Underline the signal
word in each sentence. Does the second sentence give more
information or different information about the first sentence? Write

‘more’ or ‘different’ in the space. The first one is done for you.

1. His mother remembered his birthday: however, his father forgot it.
................................. different. .....................0yiiiy, ..., INfOrMation,
2. The farmers grow food, and the people in the cities eat it.
.Information.
3. Bangkok is a large city, but Ranong is a small province.

........................................................................................ information.
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4. You can buy medicine at a drug store; you can also buy magazines, books,
film, toys and many other goods there.

........................................................ information.

ddszsnululsslon 2 Usrloa (fluyraavedadesiu fidnuenalddnden
A 2 dselam Widiei Teeasdsssulinaamile viowihfiduilsesueeanien
2 fi3n wiennndn 2 auly
Examples: The secretary lives in Bangkok.
The secretary works in Thonburi.
The secretary lives in Bangkok and works in Thonburi.
L - - e . T
UNATIHLIEUBIRLTRNAN 2 Uszlep TeUszsrusinaminsenesnumgaiu
& dv
PN
Examples: Scientists work in the laboratory.
Technicians work in the laboratory.

Scientists and technicians work in the laboratory.

Exercise 4 Look at these sentences. Find the subjects and verbs of the
sentences. Some sentences have one subject and one verb. Some
sentences have more than one subject and more than one verb.

Write the subjects and verbs in the spaces. The first one is done for

you.

1. Commuters live in the suburbs and work in the cities.

Subjects: _commuters  Verbs: live

LR A_d

work
2. Scientists make observations and perform experiments.

Subjects: _ Verbs:
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3. This writer uses many new words.

Subjects: Verbs:

4. The receptionist answers the telephone, and the secretary types the letters.

Subjects: Verbs:

5. The observer collects information and sends reports to the Capitol.

Subjects: _ Verbs:

6. Blind people can recognize voices and identify sounds.

Subjects: Verbs:

7. Many people know about solar energy, but few people use it.

Subjects: Verbs:

8. The teacher and the students are speaking English.

Subjects: Verbs:

9. Astronomers and physicists are scientists.

Subjects: __ Verbs:

10. Energy comes from many sources.

Subjects: _ Verbs:
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2.1 nswamaInangaaslssleatudauaindndan
FainAnnsudeamufidulsziaagn 7 winzUszlumiansusdudan

Usznaudnseytlszlansing q dnAnmenaduau wnanaligninlas vinesls filug
athls el il sesfesnnusluamaussidenshs Aunmdnsstuamen
Susldnden (connectives) oA daNAN (signal words) vsasadanTaq
(sentence connectors) Fwnuiififulmenauusassluadndamaieta A
deuwmanifldun A however, although, in fact, as...as unAnmiddla
ﬂmwmmmﬁqtﬂmmmdﬂﬁtﬂuﬁugﬁu@ﬂLwi%uusn Aazgosliidnlaanuusng
gpadepnafinamdsidesmgnt] u‘%‘ﬂ‘ﬂqmlﬁﬁﬂqm'm'luwﬂi:‘tﬂﬂﬁ’mmﬁﬁﬁﬂ
L%uﬁﬁmimmqmq dudle Thinunldendemdemimaiglunsimanumne

. 4 " L | 73 ~ 1 1 v -1 A‘ g
aagusrTapfenquasdudean Mt laternuisulsmaiotadu

be

nanALTaNMAT  aunsadaviaayrsaIusnauaswih i lamsa Ll

10 WIINANNARRAMALWINTIDAT / NENANTaNIMAYL

Function Connectives/ Signal Words/ Discourse Markers
Exemplification for example like
HNAIDLN for instance as for
| such as take the example of
an example of another instance of
Restatement or that is to say
nndnlaA Ay in other words
Explanation in fact that is
WAesune according to as a matter of fact
Cause as
UBNLUR since
because
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Function

Connective4 Signal Words/ Discourse Markers

Cause and Effect thus therefore because of this
LanWsLBaNKNG S0 consequently as a result
for for this reason
because
Comparison similarly in the same way
Wisuieundendne ljikewise
nu
Contrast but whereas in contrast
Wieueuluanwe despite conversely on one hand
ﬁILLﬂﬂﬁi’N In spite of although on the other hand
otherwise however
Purpose that so that
uaningUszasd in order that
Concession although though
UBNANHUENTW even though even if
nevertheless yet
the former.. the latter
Condition If when provided that
Uﬂnﬁ;’ﬂul‘ﬂ daus unless whenever on condition that

Sequence or order

first, second, third and so on

AVPUAIIN  TWN1T | and so forth after
next afterward
then before ‘
last finally
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Function Connectives/ Signal Words/ Discourse Markers
Summary S0 finally as a result
ﬂqﬂmm thus last accordingly
therefore in  conelusion consequently
for the reasons as a consequence
Additional information | and furthermore more than that
INHLANLATNAN also more likewise
further moreover in addition
another

unAnmazdaunalédn AndiauanuuAm T Asnnndmileedne W as
any & .
a result, therefore vanALaskald wazldagannfly Weanululslupazdan
| dlll [ d' I:r o 2 dl [ ::- s =S ] oS o [ ©
T4 Andanduiuihnla Aadu tinAnmastdadstiafamonuvunalseatAnens
‘o dll ) v <=l 1 =l ~ L= 2 Ai' (3 | [
AIaNITRzABINAIEINN Rt ABImEn  WiRasuwih iresn@esutlundn
wazutlaaanuvnesesndesiuliaasadasiulanan  giatwniminmifees
] 1
At 'so' lulsslamsialilil
a. | was sleeply so | went home. (cause and effect)
b. The price of food is high, rent is high and taxes are high. So we can say
living is expensive. (summary)
Tulszlon a. 'so’ @anmnnaylsclan uanuuAuazas * | was sleepy’ 1w
, b 2 1 [ Qs & o of -
R ‘went home' flung Uslaa a. wlalfiaowd dudosuen Aauy duAanay
0y ' :
iu
4 .y ol . de b d ,
doutselaa b, Wu 'so' Yiwmthiiagdanudearnnimdinigussenedn
' é’ t [ %] -i’ sl o ‘il |2 ) -i’ d‘
213 MANGIU At utusan mEfifudn agdladn seaunatuie
NTANTITN'

v 1 ) v
Aol iiuiniamnAdenany dunamminutiieess it
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Exercise 5 In the following sentences, draw a line under the sentence connector
or signal word or words. Then state what kind of information is being

signaled by the signal word. The first one is done for you.

1. Although sign languages do not involve sound, they are true language.
concession or contrast
2. Deaf children learn'to understand sign language. In addition, some of them

learn to read the lip movement of speaking people.

3. Human beings are genetically predisposed to learn to talk. That is, human

beings are born with the ability to learn to talk.

4. a. Babies eventually learn which sounds belong to their own languages, and
they practice only those sounds. As a result, they lose the ability to produce

sounds that are not in their languages.

b. On the other hand, children can easily relearn some of these sounds before

they are adolescents.

5. a. We can have a fairly accurate idea of when writing began because writing

leaves physical evidence.

b. However, the origin of human speech remains a mystery.

c. Another mystery is how humans learn to speak and understand speech.
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6. At five years old, children are aware that the same thing can be said in differ-
ent ways. For example, an English-speaking child of five or six knows that the
following sentences have the same meanings:

a. The mail came at 10.00.

b. The mail was delivered at 10.00.

7. The child probably cannot say sentence b. above, but he or she can

understand its meaning.

L] 1 i dp ] -3 J -l 4 kd ﬂ' . ‘ -4
ANTaNANNMANTUAAT A TaNVFEINANANTENAN  (signal words ¥iTe
| v t [ L % -: L3 [ :', == o 2 W
connectors) Huthmadwls wasimuihnazlatie Ay 9AResinANEan
a [ (-] d; ' dv 1 -l 73 n‘ 1 o 1 -: an] Lomn
AuNguANTaNMATHBtNAzIBEA uUNUMUATWINTIT8INGNANMANT UaFEUEIT
wanumneAwienuazdaruduteulasenduanufasanluGesindennny
X
WA
o % ' [ [V 'Y
2.1.1 AUNFANULILANTDAIINUEINY
} 7 «~ -3 L4 J [] -] dl -] v dl -
dninAnsiuandenariuainng A I AW FauRnu iy
- i 1 ., | 1 -‘ h T . . ¢
AnunusiuAnsing (contrast) wiaANnguALanANuEiu (concession) snget)
an b 9 dl [ T z ]
Twlselen Aldanawmipuviiarestapafinnulniddulanuazunnsll
ndaAuiNtemt Acseauiiaiy AnuAsAeulyl 1wy
| should have studied last night, but | walch television instead.
- : ] - 1 N GJ [ %4 L4
ﬂi‘:TﬂﬂﬁNﬁuuﬂmmﬁuﬂmﬁmqnu tselupusnnannana@eanduanmn
X
Sammid Ussloangananiiedelinduade fdenanu “out tﬂuﬁ’ruru'}runﬂnlﬂg
indamannluyls T auinuasnde “but” ity Snatnail
Time ran out before | finished; however, | think | passed the test.
‘however Lﬂuﬁm’ﬂﬂuLtﬂmalﬁidﬂﬁnﬁiﬁﬁﬂaﬁuﬁm 2 ANAR 3N
WRUANTY ANAAWINAS “UNAnAiauRiduasdedauaie” AuAnluzln
wdama “BensuiusuRniiAs UL
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'y ) P | ' s &
AnauAndanlFausiig uaneanaudety sausanlalumanstnesned

o . v ol
ml.%'aum'm (signal words) NUMN
A -
but nevertheless’ ulssuulsannuma
however while UAAIANNUETY
. Py °
on one hand otherwise 'iﬂmmwmuﬂ'nfﬂ'auu'}

. - A o 3
conversely despite dlasnuuansnsiudannafinndaamin
yet even though
although in contrast

212 dadeaniwandayaiiia
Snandusndenmnuselld fhuduin and, also, moreover Teis
AmTzing 2 Uszluadialn WiFndudyoyruiswandilaantuy 2 Vssaaty
Hudfeyaaduiuwasiu fatirauduy ‘
I need to study more. Furthermore, | think I'm going to need a tutor.

Uszlapdnesiu faidan “furthermore” 1uandn dayaiiaida

NMAsREANN AT TR

' A’gl < e q < o v ol o
ﬂ’ﬂ‘hlut UATTNAUNMUNEINUAUTBHNAIMNNNIURUINLATHAIN

ﬁ'uﬂ'aum"m (signal words) uﬁ"ls""l
and furthermore more than that \WINAIN
also more likewise Wideyaifaidi
further moreover in addition
another

as ' o e o o [y
213 fudeantwananuduwusniumaiuaady
Fastndszluaidennudumetlunariu

Because | felt good today, | swam a mile.
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dsrloausn “Suffnavieduil” uwanawn Usslvandd “dudvined
Tnatle 1 Tud” Whinamunn dszloadresuiiusnuvpuaznaiuiudedl “wmzduidn

Y H e [ s 1 - %
AuneRiull Sudeineiningds 1 lud” wenaBmasuternudeludls Al
| swam a mile today because | felt good.

| % ] o or ] - o ‘ﬂ' ] f‘i’
wizFneadudannalud  anuuniuassn  fadentuananiunisaiiiumg
« o d Y e ¥ . a4 o yod
Thiai Adenannlu 2.3 W tnedanadiunguAntanivmih e
1w A7 thus, so, as a result TamnAdeanuindiAssadasdiinAnmuanues

1 o lﬂl L :” -3 3 d’ o 1
panidenAl  vwtfiarls dastrey

As a result of calling the doctor on time, her leg was saved. (cause and effect)
The critics wrote bad reviews of Seree’s play. As a result, few people went
to see it, and it folded in a month. (cause and effect)

AidanAaudramRuazis 1l Alunnsedieanadl

AndanAaa (signal words) wif
o) for for this reason UAAIMAUATZHA
therefore thus because of this
Consequéntly because as a result

Exercise 6 Here are some sentences joined with signal words. Read each sen-
tence and look for the signal word. Underline the signal word. Does
the second sentence give more information about the first sentence,
different information from the first sentence, or the effect/result of the
information in the first sentence? Write ‘more’, ‘different’ or ‘result’ in

the space. The first one is done for you.
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1. | enjoy reading the newspapers from my country, although they are always two
or three weeks late.

different

2. There are millions of books in our library; consequently, we use a special

system to keep the books in order.

3. Some families have long histories while others know very little about their

ancestors.

4. They are all related to each other, so the members of an extended family are

called relatives.

5. The nuclear family is becoming smaller as parents want fewer children:
furthermore, many nuclear families are ‘splitting up’ as more and more parents

get divorced.

6. Some people can learn languages more quickly than others, yet they do not

seem to be more intelligent than others.

7. Some people who are successful in their fields cannot learn languages easily.

Conversely, some successful language learners cannot do well in other fields.

8. Successful language learning is active learning. Therefore, successful langu-

age learners always look for chances to use the language.
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9. Successful language learners want to learn with the new language; thus they

find it easy to practice using the language regularly.

10. Most libraries have a reference collection, a periodical collection, a non-fiction
collection, and a fiction collection. Moreover, many libraries have special

collections, such as children’s collections, music collections, and art collec-

tions.

2.1. Mq;ﬂau'li'aqﬂmw

Adexanludeag T Ausznquansalyd

SO last as a result

thus finally accordingly
therefore in  conclusion consequently
for these reasons as a consequence

FratnamsWiideumaiieagiiasnu
Thus, | decided | was going to need to put in more time studying.
Thus fa axiu Smidieduladdeafisnamunoumide
Thus WheuaiioudeagUiiinainnnideyasine q safatsan
LLé’fmqﬂﬂi‘:tﬁuzﬁ'w‘fry'aﬂnm‘lm”uﬁa'i:’amm Bndnatihani
Therefore, she shou!é::l not report to work until we can identify what

is causing her rash.

215 sadauanulnadndiauAw

Aidennguiidiauideanla andantienruludanduasy
0 e i - a o o dl 1 . "
Aaunde videsdulssAuianiaue  WnldAuanaiAun u first, second, finally

1

Aaatinautu
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First open the book to the index. Then find the listings for the fetter a.

Next, look for “Utopia”. After this, check for the page number listing.

as d a’ []
216 MadanAMNIRaEnAI81
fapuftluntsandoetng  Wdedslsenauazdqauenltaqnu-

[ ] L

mnereadwienn  Aisbidy  AdanfivantiFidmetreidmnamn W
for example, for instance, such as, e.g. ARENLTY

The hotel provides you with various sports facilities such as a
swimming pool, a sauna, a tennis court, a squash court, a golf course and a

games room.

|
[

IR INTOAIANNNNNEL8 sports facilities THANIRHATNVAIG
\WaN such as LI@INT0ENMIBENNTR9RINTeNIn sports facilities I lAunesls

1179

217 fadananuiesiuigana
Aniideduailafilbifarumng  uspfaurianienaInnguAl
WiadaAuRmLNI R TIEeS IR AN T AmTTY  AdenTiieuandngn
asLNunAsazmNNn TAun thatis, in fact, according to faatinudu
One of the best way to overcome confusion about ideas is to
make important distinctions---that is, to avoid lumping all considerations together

indiscriminately.

2.1.8 fadananaldnaredrlanudrany
§ ¥
Andanwanil oun or, in other words, that is to say \$1813a7Ae
ATIIVNILIITARDY 11U commas, dashes %98 brackets 1ot lunisimnAEuNNe

aaerwyiannlising Anesinaitu
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Dictionaries frequently give information about etymology, or the
origins and development of a word.
wiimazlinmuanamuneees etymology  wwanléian etymology
- . . U I 1
VNN origins and development of a word Faflufamnunnarngianumung
14 . J -l‘ 4'-I' i 4 3
189 etymology wnsuldandaden or Tadanszning 2 demanuil ARBAIUA

\ATEMNNE comma U32NaLNIAATTBAUTIA

Exercise 7 Read the sentence and underline the signal words; then identify the

functions of the signal words. The first one is done for you.

1. Somjai finds learning Russian a difficult task. In fact, she thinks it is the most
difficult piece of work she has done in her life.
Explanation

2. In conclusion, no more absence wil be tolerated.

3. It is really simple. First, make a list of what you want to do. Then, do fit.

4. He was so impudent to his mother that | would have spanked him if he had

talked to me that way.

5. For without the money you won't have enough for your ticket.

6. Some animals, such as rabbits and cows, are herbivores or plant-eating

animals.
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7. People are always making things: but when they make something beautiful, we

call it art.

8. Recycling is popular in Thailand because it is cheap, good both for the envi-

ronment and money-minded manufacturers.

9. Mothers are advised to abstain from eating some kinds of vegetables and
fruits, for instance. Bananas and oranges, fearing that some poisonous

substance from the fruits will be passed to the babies through their milk.

10. Look at punctuation clues. A period means the end of a sentence (and an
idea). A comma can mean a definition will follow, or it can join ideas. Quota-

tion marks show us the exact words of a speaker.

Exercise 8 Underline the signal words in the following paragraphs. Answer the

questions following it.

1. In summary, Commagers states that there are at least six common character-
istics of the American. First is his carelessness regarding manners, dress,
food, education, and politics. Second, his generousness or openhandedness
in giving to churches, schools, hospitals, and the like.. Third is the American’s
self-indulgence regarding comfort and luxury. Still another characteristic is his
sentimentally toward his children, his alma master, and his history. Fifth is his

friendliness. And last is his quest for materialism.
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